 İNGİLİZCE GENEL DENEME SINAVI 2.


1-22. sorularda, cümlede boş bırakılan yerlere uygun düşen kelime ya da ifadeyi koyunuz.

I-
When we arrived in Paris it was …………  with rain.


A) running
B) dropping



C) pouring
D) falling


E) rinsing

2-
He promised to mend the broken wheel next day without …………     


A) failure
B) default



C) trouble
D) fail


E)
difficult

3-
I should be very………… if you would accept the invitation  to the party. 


A) thanking

B) honourable



C) pleased

D) pleasing


E) pleading

4. 
The _______ of raw materials has led to cut-backs in production this year.


A) exhibition 

B) wreckage 


C) assistance 

D) competition 


E) scarcity

5- 
They came to inspect the house………… buying it.


A)
in the event of 

B) with a view to 


C) 
with reference to 

D) on account of


E)
so as to

6.
Her love _______reading probably began because of the time she had to spend alone _______ a child. 




A) of / as

B) in / before 



C) about / like

D) for / during 



E) with / like 



7.
Undisciplined children are usually not ________

 those who know what they can and can't do. 



A) so happy that

B) the happier
 

C) as happy as

D) the happiest 


E) happy enough

8-
Your work has been very good………… this year. 



A) 
so far 
B) by far


C) 
as far as
D) so long


E)
as long as

9- 
No one was able to think…………  the noise was going on.


A)
during 

B) while 


C) 
since 

D) on account of


E)
due to

10- 
Franz Kafka.........books are still read and appreciated today, had wanted all his manuscripts to be destroyed after his death.
A) that 
B) which

C) whose 
D) whom

E) where
11- 
The feelings of a mother................ she sees her child in danger are more powerful than any fears she may have for herself.
A) 
who 
B) where

C) 
when 
D) which

E)
whose
12. 
A: Why …………  the radiator, Dad?

B: I don’t think it’s working; it …………  very cold in here.


A) 
did you feel / felt


B)
are you feeling / will feel


C)
do you feel / felt


D)
are you feeling / felt


E) 
are you feeling / feels

13.
A: Tom …………  usually a very quiet boy.


B: Yes, but he ………… very noisy today. 


A)
was / is being
B)
will be  / was


C)
is / is being
D)
is / was


E)
was / had been

14.
By the end of next year he …………  in Madrid for three years. 


A)
will be
B)
was


C)
have been
D)
will have been


E)
had been

15.
She …………  in Liverpool before she came to London.

A)
had been living
B) 
was living


C)
have been living
D)
lives


E)
will be living

16-
When they …………… they …………… to eat near the edge of a forest and …………… surprised to see a rabbit running in the long grass.  


A)
arrive / stopped / were

B)
arrived / stopped / were


C)
arrived / stop / were


D)
have arrived / stopped / were


E)
arrived / have stopped / were

17-
The children …………… to go and …………… a closer look at the deer and …………… excitedly towards it.


A)
wanted / have / ran



B)
want / have / ran


C)
wanted / have / have run


D)
want / had / ran


E)
wanted / had / ran

18-
Last year they overtaxed me and  I think that until they refund it to me they should pay me interest on it, ……………?


A)
don’t you
B)
should they


C)
do they
D)
didn’t they


E)
don’t they

19-
Henry took an English exam yesterday.  He took three pens with him. He …………… many because he only used one!


A)
didn’t need to take


B)
doesn’t have to take


C)
needn’t have taken


D)
won’t need to take


E)
never takes

20-
I wondered whether you would like to………… to the theatre tomorrow.


A) 
visit
B) go away



C) walk out
D) go out



E)
stay up
21- 
Four metres of this material…………  at £24.50. 


A)
add up 
B)
fetch down 


C)
work out 
D)
come through


E)
carry on

22-
The idea of a balanced diet is very difficult to ………… to anyone who knows nothing about food values. 


A)
put through 
B)
take in 


C)
put across 
D)
make over


E)
put out
23. -27. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
As it (23) ……….  from the well, natural gas is quite odourless. This makes it (24) ……….  dangerous to use; (25) ……….  if a gas burner in a kitchen is left open, no one can smell the escaping gas, and a lighted match could cause a fatal (26) ……….  . To avoid such danger, a gas with a very noticeable smell is (27) ……….  the natural gas. Escaping gas can then be detected by this odour.

23-


A)
came
B) 
comes


C)
has come
D)
will come


E)
is coming

24-


A)
too
B) rather


C)
as
D)
so


E)
less

25-


A)
but
B)
however


C) 
so as to
D) 
for


E)
thus

26-


A)
explosive
B)
explode


C)
exploding
D)
exploded


E) 
explosion

27-


A)
combined with
B)
matched with


C)
mixed with
D)
fixed with


E)
confused with

28. -32. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
Silk (28) ……….  a prized and costly material for a long time.   (29) ………. its softness and light weight and the fact that it can be dyed many colours, it has been (30) ……….  above other types of clothing materials. However, as it can be produced only by the silkworm and because much labour (31) ……….  in its manufacture, it has been expensive. Thus, most of the people in the world can not (32) ……….  to wear silk clothing.

28- 


A)
is
B) 
has been


C)
will be
D)
was


E)
had been

29- 


A)
Because
B)
Because of


C)
However
D)
In spite of


E)
Due to the fact that

30-


A)
favoured
B)
liked


C) 
bought
D)
preferred


E)
used

31-


A)
needs
B)
had been needed


C)
needed
D)
has needed


E) 
is needed

32-


A)
need
B)
want


C)
cause
D) 
afford


E)
think

33 – 42. sorularda, yarım bırakılan cümleyi uygun şekilde tamamlayan ifadeyi bulunuz.

33.  
Though Hong Kong used to be one of the 
world's most alluring shopping centres,______.
A) 
it might have remained a fashionable holiday resort
B)  this was no longer the case
C) 
composition seems to be growing even keener
D) 
it is now one of its most expensive
E)  
others did not share this opinion
34. 
All nations of the world must take action against 
nuclear power stations, _____.
A) 
therefore energy sources are not going to 
increase
B)  
yet poorer nations continued this harmful 
practice those years
C) 
although burning fossil fuels causes serious 
damage to our country
D) 
and fortunately they are economical to operate
E)  
otherwise our children and grandchildren will 
suffer the consequences
35.   
Darwin's theory of evolution was based on the observation______.
A) 
whether his insight really was revolutionary
B)  
why many people of his own age were reluctant 

to admit it
C) 
while amassing evidence for 25 years in support 

of it
D) 
since the multiplicity of the unique forms emerged
E)  
that all individuals of the same species are not identical

36.   
The overall quality of life in today's world can not be improved __________ .
A)  
as the population of that part of the world rose from 800 million in 1960 to 1. 2 billion in 2004.
B)  
while the underdeveloped countries were ignored completely by international agencies like the United Nations and the World Bank
C) 
just as population growth would strain the global 

urban environment
D) 
whenever the OECD declines to support a 


serious of projects for the development of poorer 

countries
E)  
unless the developed countries are prepared to offer a helping hand to the underdeveloped
37.
_____that the case was far more complicated than he had originally thought.
A)  
The witnesses were called in
B)  
According to the lawyer, much is involved
C) 
Following the uproar caused by the press 


coverage
D) 
As the police had reported
E)  
In the light of the new evidence, the judge realised 

38.     The hunters said that _____.
A) 
they had never caught such a wild bear until they caught one in Australia two weeks ago.
B)  
they have never seen such an enormous tiger 
before.
C) 
they spent their whole lives trying to find the most dangerous animal to hunt until they come here.
D) 
they would quit their jobs if they hadn't won the 
prize
E)  
the world is made up of two classes the 
hunters and the hunters.
39. 
Having tasted the pleasures of modern city life_______.

A)  
he would have been reluctant to return
B)  
he had worked hard to improve their living 


standards
C) 
the students will be educated and trained for a special job
D) 
people don't realize how lonely they are
E) 
he  found  life in their  village  hard  and unattractive
40.   
 _______,   the   geneticist   counselled   the

couple on their chances of having a normal 


child.
A)    Without making an appointment with him
B)    After the tests were completed
C)    Unless the doctor examines the result
D)    By the time they decided to have a child
E)    When they have got married
41.    Although we hadn't met for 20 years, _____.
A)    it was a long time again
B)    Robert has grown much older
C)    I recognized Robert at once
D)    Sue is much prettier than I am
E)    the other team seemed surprised

42.    So complicated is the question _____.
A)  
that it seems impossible to solve it without the 
help of our teacher
B)  although boredom at school is inevitable
C) 
as the instructions for use were impossible to 
follow
D)  but we managed to solve them easily
E)  and they showed a sign of discontent
43. — 46. sorularda, verilen cümlenin hangi sorunun cevabı olduğunu bulunuz.

43-
Yes, but I won't be able to stay long.


A)
Are you attending Mary's party tomorrow?


B)
Have  you visited your granddad in the hospital?


C)
Would you mind if I came to the party?


D)
Do you mind helping me at the party?


E)
Will you be at school next Monday?

44-
Sure, I've found someone to look after the children.


A)
Will you be watching “Kurtlar Vadisi” this evening?


B)
Are you coming with us to the concert tomorrow?


C)
Do you mind if I look after your children?


D)
When will you go to the concert?


E)
Would you like me to come to the cinema?
45-
Not all of them, but I'll finish in an hour.


A)
Have you finished your lunch?


B)
Will you check the exam papers?


C)
Have you typed the letters?


D)
What happened to the money I gave you?


E)
Did you finish painting the picture?
46-
By coach, of course.


A)
How did you go to the USA?


B)
Which is faster-travelling by coach or by train?


C)
Where  would you like your tea?


D)
Where did you spend your holiday?


E)
Which do you prefer, coach or plane?

47-50. sorularda, verilen İngilizce cümlenin Türkçe 

dengini bulunuz.

47. 
He is a little hesitant as to whether he will be able to cope with such a big project on his own.

A) 
Onun, bu kadar büyük bir projenin üstesinden ge​lebileceği konusunda tereddütler var.

B) 
Tek başına nasıl bu kadar büyük bir projenin üste​sinden geldiği merak konusu.


C)
Böyle büyük bir projenin tek başına üstesinden 



gelip gelemeyeceği konusunda biraz 



tereddütlü. 


D) 
Projenin büyük olması, onun tek başına 



başarabi​leceği konusunda tereddütler yarattı.

E) 
Bu kadar büyük bir projeyi tek başına 


üstlenmeye cesaret edip edemeyeceği merak 


ediliyor.

48. 
Medieval nobles delighted in ostentatious jewellery, and in dresses sewn thick with gems.


A) 
Ortaçağda soyluların taktığı mücevherler çok gösterişli, giysileri ise bol miktarda değerli taşla işlenmiş olurdu.


B) 
Ortaçağda soylular, gösterişli mücevherler takar, abartılı bir şekilde değerli taşlarla süslenmiş giysi​ler giyerlerdi.


C) 
Ortaçağ soyluları, gösterişli mücevherlerin yanı sı​ra, kalın giysiler üzerine işlenmiş değerli taşlara da çok düşkündü.


D) 
Değerli taşlarla bezenmiş kalın giysiler giyen Ortaçağ soyluları, gösterişli mücevherleri de severdi. 


E)
Ortaçağ soyluları, gösterişli mücevherlerden ve ü​zerine yoğun bir şekilde değerli taş işlenmiş giysi​lerden hoşlanırlardı.

49. 
The spread of computers and automation in production gradually reduced the average work day. 

A) 
Üretimin bilgisayarların kontrolüne girmesi, 


ortala​ma iş gününün giderek azalmasını 


sağlamıştır.

B) 
Ortalama iş gününün azaltılabilmesi için 


bilgisayarların yaygın kullanımı ve üretimde 


otomasyon şarttır.

C)
Bilgisayarların yaygınlaşması ve üretimde


otomasyon, giderek ortalama iş gününü 


azaltmıştır.

D) 
Ortalama iş gününün kısalması, bilgisayarların


yaygınlaşması ve üretimde otomasyonla 


mümkün olmuştur.

E) 
Bilgisayarların yaygın kullanımı, ve buna bağlı 


olarak üretimde otomasyon, ortalama iş gününü 


kısaltmıştır.

50. 
A major automobile race probably attracts more spectators than does any other sporting event.

A) 
Galiba başka hiçbir spor karşılaşması büyük bir 


otomobil yarışı kadar çok izleyici toplayamıyor.

B) 
Spor karşılaşmaları içinde belki de en çok 


izleyici​ yi çeken büyük otomobil yarışlarıdır.

C)
Büyük bir otomobil yarışı belki de diğer herhangi 


bir spor karşılaşmasından daha çok izleyici 


çekmektedir.

D) 
Galiba önemli bir otomobil yarışından daha fazla 


izleyici çeken başka bir spor karşılaşması yok.

E) 
Aslında önemli otomobil yarışları da en az diğer 

spor karşılaşmaları kadar izleyici çekebiliyor.

51-54. sorularda, verilen Türkçe cümlenin İngilizce 

dengini bulunuz.

51. 
Ruh ve beden sağlamız için düzenli uyku, dengeli beslenmek kadar önemlidir.

A) 
Regular sleep is as important for our mental and 


physical health as a balanced diet.

B) 
In order to be mentally and physically healthy, 


regular sleep as well as a balanced diet is 


essential.

C) 
One cannot be healthy either mentally or 


physically if one doesn't eat or sleep properly.

D) 
Regular sleep is a lot more important for our 


mental and physical health than a balanced diet.

E) 
We should take regular sleeps and eat a 


balanced diet to maintain our mental and 


physical health.

52. 
Ne yazık ki takımımız son haftalarda arka arkaya yenil​giler yaşamaktadır.

A) It’s a pity that our team has been defeated in 


every match in the last few weeks.

B) Unfortunately, our team has experienced defeats 


one after another in recent weeks.

C)
Our team has had a run of unfortunate defeats 


recently, following one after the other.

O) The defeats that our team has experienced in 


the last weeks shows how unfortunate it is.

E) What a pity it is that our team has had so many 


defeats in recent weeks.

53. 
Bazen koşullar insanı istemediği şeyleri yapmaya zor​layabilir.

A) 
Owing to the circumstances, a person 


sometimes has to do things he doesn't want to.

B) 
Even if he doesn't want to, sometimes a person 


may have to do things just due to the conditions.

C) 
People can sometimes do unwanted things 


when circumstances are beyond their control.

D) 
Sometimes conditions can make a person do 


things he doesn't want to.

E) 
A person is sometimes forced by the 


circumstances to do things he doesn't want to.

54.   
The monuments, no longer protected by the vegetation, were being eroded by the excessive heat and torrents of tropical rains.

A)  
Aşırı sıcaklık ve tropikal yağmurların selleriyle aşınananıtlar, artık bitkiler tarafından korunmuyordu.

B)  
Bitki örtüsü tarafından artık korunmayan anıtlar, aşırı sıcaklık ve tropikal yağmurların selleri tarafından aşındırılıyordu.

C) 
Aşırı sıcaklık ve tropikal yağmur sellerinin aşındırdığı anıtları, bitkiler artık korumuyordu.

D) 
Anıtların şiddetli sıcaklık ve tropikal yağmur selleri tarafından aşındırılması, onların bitkiler tarafından artık korunmamasındandı.

E)  
Anıtlar ve artık korunmayan bitkiler, aşırı sıcaklık ve tropikal yağmur selleri tarafından aşındırılıyordu.

55-57.  soruları verilen parçaya göre cevaplayınız.

Have you ever wondered where the expression O.K., which it means all right, comes from originally? In one amusing story the expression is attributed to the American President Andrew Jackson who, like many before and after him, was a soldier by occupation. Unlike most presidents these days, who have spent many years at college, Jackson’s education was not as complete as his military training and it is said his spelling was not as good as it should have been. Of course, a great many papers were given to the president to sign but he did not want to write much at the bottom of these papers so, when he agreed with what was written, he would simply write O.K. on the paper because President Jackson believed the spelling of “All Correct” to be ‘Orl Kerekt”, or O.K. for short!

55-
We can infer from the passage that ……………


A)
in America, generals used to become presidents later in their lives.


B)
in the past high ranked people in the army didn’t need to attend the higher education


C)
because of frequent wars, sometimes uneducated people became commanders


D)
it is difficult to guess the correct spelling of the initials O. K. because the original words were misspelt.


E)
to become a president in America one needn’t have attended the university.

56-
It is stated in the passage that ……………


A)
Andrew Jackson is the inventor of O. K. 


B)
Andrew Jackson was an amusing person, so that he signed the documents as O. K. which means “I agree”.


C)
when you agree with somebody on something it’s enough to say O. K.


D)
to become a soldier one should go to the college in America.


E)
presidents sign many papers every day so they just write O. K. instead of a signature.

57-
 We can infer from the passage tat ……………


A)
there is an age limit to be elected an MP or president in many countries.


B)
one can use initials or shorthand instead of writing too many words.


C)
most presidents in the world today are the graduates of the higher education 


D)
people, soldiers by occupation, shouldn’t become presidents.


E)
many countries have soldier-presidents in the case of martial law.

58-60.  soruları verilen parçaya göre cevaplayınız.

The most important match of the English football season was on last weekend. Manchester United, the favourites, were playing Everton, another team from the North of England. My father has been an Everton fan since he was a young boy, but unfortunately I wasn’t there to watch the match with him as I’m studying abroad. A group of about fifteen English students met in French College bar to cheer our teams. None of us could believe it when the presenter appeared and apologised for not being able to get a picture. Instead we were shown a long stretch of adverts. Every so often the presenter would appear again to apologise for the lack of picture. At half-time I phoned home and asked what the score was. My dad was full of joy. Apparently Everton had got a goal in the thirtieth minute. Fortunately we could see the second half, so we watched Everton win the Cup.

58-
It is stated in the passage that ……………


A)
father and son support different teams.


B)
the writer couldn’t watch the match in the stadium in England because he was attending a school in France.

C)
Manchester United  is a better team than Everton

D)
the writer and his 14 friends came together to watch the film at school.

E)
the writer always goes to the matches with his father

59-
The author states that ……………


A)
they could watch only the second half of the match


B)
Everton scored a goal in the second half.


C)
it was a semi-final match


D)
he understood Manchester scored a goal in the thirtieth minute because his father was full of joy.


E)
his father used to support Manchester when he was a young boy.

60-
It is clearly understood from the passage that 

…………


A)
commercials frequently interrupted the broadcast of the 
match 


B)
they couldn’t watch the first half because of the lack of the broadcast.


C)
in France they put many adverts while broadcasting the match


D)
the presenter often appeared on the screen to say that they would have to broadcast commercials because of the law.


E)
English and French students watched the match together.

61-63.  soruları verilen parçaya göre cevaplayınız.

Big Ben is in fact the bell which tolls  on the hour in the clock tower of the  Houses of Parliament and not, as is commonly supposed, the tower and clock itself. It is thought to have been named after Sir Benjamin Hall. The bell was completed on April 10th, 1858. With a weight of more than 13 tons, it was the heaviest bell in Britain at that time. It began striking the time in July, 1859, but cracked later that year and was consequently silent for the next three years. The crack is plainly visible even today. An electric motor is now used to wind the clock mechanism, and checks with Greenwich Observatory that have rarely shown an error of more than one second. On some occasions the clock has stopped accidentally, but seldom due to mechanical problems. Radio made Big Ben a symbol, and on New Year’s Eve in 1923 Big Ben made its first broadcast. It has been heard nightly ever since.

61-
It is stated in the passage that ……………


A)
Big Ben is a bear which stars in the films.


B)
Big Ben is a tower and a clock in the Houses of Parliament.


C)
Big Ben rarely shows an error of more than one second according to the Greenwich Observatory


D)
Big Ben had a crack in 1859 and never worked again.


E)
Big Ben is the symbol of London.

62-
We can understand from the passage that ……………


A)
The bell, Big Ben, restarted to toll in 1862.


B)
the crack in the bell was invisible but it prevented it from working for three years.


C)
in Europe there are clock towers in the city centres.


D)
when it was manufactured, electric motor was used to wind the clock mechanism.


E)
Benjamin Hall completed the bell on April 10th 1858.

63-
The author states that ……………


A)
since 1862 the clock has never needed a repair.


B)
Big Ben, which is also a name of a radio has been broadcasting since 1923.


C)
the clock has never stopped due to mechanical problems for more than a century.


D)
TVs and radios get the exact time from Big Ben.


E)
the clock and the radios started their activities at the same year.

64-66.  soruları verilen parçaya göre cevaplayınız.

There are people who spend years suffering from an illness which doctors are not usually sympathetic towards. Hypochondria is a medical term which describes a highly abnormal level of worry about your health. Sufferers regularly visit their doctors with complaints of serious symptoms which doctors cannot explain. Hypochondriacs are always pessimistic about their health and often imagine that they are suffering from dangerous or incurable diseases. They waste the valuable time of doctors when really they are perfectly healthy. Sufferers can be taught to control their anxiety through relaxation techniques.

64-
It is stated in the passage that ……………


A)
sufferers of hypochondria  can be cured by using relaxation techniques.


B)
scientists haven’t found out the cure for the hypochondria  


C)
hypochondriacs are anxious for almost everything


D)
if people are alone and always think themselves it results in hypochondria .


E)
hypochondriacs are defined as mentally ill but biologically healthy people.

65-
It is obvious in the passage that ……………


A)
hypochondriacs look for a cure to their illness from the religious people. 


B)
hypochondriacs are afraid of visiting doctors.


C)
doctors can’t cure   hypochondriacs


D)
scientists are still trying to find a cure to the illness  


E)
people who are pessimistic and worried about their health, and also often imagine that they have incurable dangerous diseases are called hypochondriacs.  

66-
Doctors are not sympathetic towards the 


hypochondriacs because ……………     



A)
they don’t pay enough money comparing with the time they take.


B)
they are not satisfied with the cure the doctors provide.


C)
they can’t find a solution; neither can the science.


D)
they go to the doctors not only when they are ill but also when they are healthy.


E)
they don’t want to deal with an incurable dangerous illness.
67-69.  soruları verilen parçaya göre cevaplayınız.

Thank you for your letter of 25th March informing us of the faulty equipment we sent to you. We would like to express our deep regret for the error, together with an explanation of what happened. There was a mix-up with the orders at the manufacturing plant and they sent us the wrong equipment already packaged and sealed. Our clerk failed to check the equipment inside and carelessly sent on the box to you. We assure you the actual equipment is not faulty but simply the wrong model. We would like you to accept our sincere apologies for the incident and we promise that this will not happen again. Please find enclosed a cheque for all the shipping and transportation costs as well as a cheque for $200 for inconvenience caused. We hope you will continue to do business with us in the future.

67-
We can infer from the passage that ……………


A)
this is probably a reply from the marketing manager to the customer.


B)
customers look for their rights.


C)
customer is always right.


D)
markets have to take back the faulty equipments. 


E)
markets pay for any inconvenience.

68-
It is stated in the passage that ……………


A)
there was misunderstanding about the order at the market.


B)
the clerk checked the equipment but he ignored the mix up.


C)
no one can open the parcel after it has been packaged and sealed.


D)
there was misunderstanding at the factory.


E)
they generally open the package and check whether it is the right equipment or not.

69-
We can conclude from the passage that ………


A)
at the manufacturing plant they prepared the right equipment but  it was a different model.


B)

they will send the correct equipment later.


C)
they have sold out the models the customer wanted.


D)
most markets compensate the faulty equipments.


E)
according to the customer’s rights markets have to change the faulty equipments without any reason.

70-71.  soruları verilen parçaya göre cevaplayınız.

Whatever else Christmas may stand for, one thing it still means is eating. Christmas has traditionally been a time of the year when people have tried to cheer themselves up during the cold months of winter. Last year more than 10 million turkeys were bought in Britain alone during the festive season working. A way to satisfy the nation’s appetite. Health experts may continue to complain about all this self-indulgence, but they fail to realise that there is nothing new about celebratory feasting, particularly at this time of year. The Roman Saturnalia, which was supposedly a festival to honour the god of agriculture, started on 19 December. Among other things, the Saturnalia involved lighting candles and giving gifts. People who had spent the whole year saving money suddenly became extravagant. In addition to exchanging gifts, this time of year was also an occasion for masters and slaves alike to eat excessively. At one Saturnalia feast an emperor is reported to have spent the equivalent of £600,000 on a dinner for twelve guests which consisted of twenty courses and lasted all day. So, when mealtime comes round on 25 December, there’s no point in having a guilty conscience. In fact the occasional seasonal feast may promote good health and stop year-round overeating.

70-
We can conclude from the passage that  ………


A)
Christmas looks very much like the Islamic festivals because they both have the tradition of eating, cheering up and giving things.


B)
Christmas stands for the birth date of Jesus Christ.


C)
there is not an exact date for Christmas.


D)
at Christmas people eat so much that health experts generally complain about it.


E)
turkeys are the symbol of Christmas celebrations.

71-
The author states that……………


A)
people start eating on 19th December.


B)
one needn’t have a guilty conscience about eating because during the year don’t overeat.


C)
traditional Christmas meal consists 20 courses and lasts all day.


D)
in many countries, Christmas and New Year are thought to be same.


E)
at Christmas “Noel Baba” is supposed to deliver presents to children.

72-
It is stated in the passage that the Roman 

Saturnalia ……


A)
in the Roman era, people enabled to become so extravagant that they would start to buy presents to each other.


B)
lasts two weeks by eating all days giving presents to each other.


C)
was an occasion to honour the god of agriculture.


D)
was the occasion for the master to give their slaves freedom.


E)
was a chance for people to eat big meals presented by the emperor.

73-75.  soruları verilen parçaya göre cevaplayınız.

Today English is, without doubt, the world’s most important language. One  in ten people speak it as their mother tongue and it has a larger vocabulary than any other language. English belongs to the lndo-​European family of languages, which developed from a parent language first spoken about five thousand years ago in central-northern Europe. From there, it spread to the rest of Europe and the Middle East, and over time it developed into a series of new tongues. One of these was Primitive Germanic, which later split into old English, Dutch, German and the Scandinavian lan​guages. Old English was later heavily influenced by French following the Norman invasion in the eleventh century. Then, in the sixteenth century, due to the invention of printing, the increase in opportunities for education and the growth of international trade and communication, this form of English, which is known as Middle English, changed into the language we now speak, Modern English. Language change continues to the present day, although since 1800 the major area of change has been in vocabulary rather than grammar. Events such as the Industrial Revolution and the two world wars are among the reasons for the

expansion of vocabulary. Another factor is the growing influence of the media.

73-
It is stated in the passage that ……………


A)
nine out of ten people speak English as a second language.


B)

English is the mother tongue of 10 % of people in the world.


C)
English comes second as a mother tongue after Chinese which more than one billion people speak.


D)
English was the mother tongue for the people in the medieval era.


E)
English grammar has never changed for 1800 years.

74-
The author states that ……………


A)
in the past English  had a larger vocabulary than any other languages.


B)
Primitive Germanic faded over time and now it is not used any more.


C)
modern English differs from the Middle and Old English in the number of vocabulary and grammar.


D)
English originated from a language which was first spoken in Europe in 3000 BC.


E)
there is much vocabulary from Indian because English belongs to the Indo-European language group.

75-
We can infer from the passage that ……………


A)
although vocabulary in the language expands, grammar remains the same.


B)
in the history, English is seen in the order of Primitive Germanic, Old English, Middle English and Modern English


C)
English Grammar and vocabulary have changed in the last centuries because invention of printing, education, international trade and communication have had great influence on it.


D)
in the European countries one can travel only knowing English.


E)
English is spoken in the middle-east, Africa and far-east. Because England had colonies in those continents.

76-80. sorularda, verilen cümleye anlamca en yakın seçeneği bulunuz.

76. 
No manner of persuasion could break her daughter's practice of sucking her thumb.

A) 
Nothing could make her daughter give up her habit of sucking her thumb.

B) 
Her mother tried everything but in the end she deci​ded not to suck her thumb.

C) 
she decided not to suck her thumb because of her mothers persuasion

D) 
She didn't want to suck her thumb but then, she changed her mind.

E) 
While she was sucking her thumb, she broke it.

77. 
As you have perhaps realised by now, the topic sen​tence is not always the first sentence in a paragraph. 

A) 
I’m sure you all realised that the first sentence in



a paragraph is usually followed by the topic



sentence. 

B) 
It’s been probably clear to you so far that the



first sentence in a paragraph may not always be 



the topic sentence

C) 
whether or not it is clear to you, a paragraph seldom starts with the topic sentence.

D) 
As we mentioned above the topic sentence in a pa​ragraph is always at the end.

E) 
You must have noticed so far that the fırst sentence of a paragraph is as important as the topic senten​ce.
78. 
Because she had a lot of frozen food at home, she didn't panic when suddenly some guests arrived for dinner.


A) 
Having lots of frozen food at home made it possible for her to prepare dinner for the unexpected guests without becoming frantic.

B) 
When some guests arrived unexpectedly, she hurried to the shops to buy some frozen food for dinner. 

C) 

She always has plenty of frozen food available at home, so she doesn't panic when she has some guests unexpectedly.

D) 
Frozen foods are a convenience for housewives, especially when some guests arrive for dinner suddenly

E) 
She needn’t have been frantic when suddenly some guests arrived, for there was a lot of frozen food at home.

79. 
The fatigue we usually feel after a long journey becomes keener when we fly over different time zones.

A) 
We normally experience fatigue on a long flight 


only when we cross time zones.

B) 
Generally people feel exhausted when crossing 


time zones, but it is not a serious ailment.

C) 
Crossing time zones increases fatigue, which is 


a normal experience on a long flight.

D) 
The exhaustion, normally felt through the 


different time zones, can be dangerous if it lasts 


long.

E) 
Flying over different time zones usually causes 


certain ailments which may take a long time to 


recover from.
80-
The UN report shocked many people because it spelled out the rapid rate at which agricultural land is disappearing all over the world.

A)
The shocking UN report declared that the agricultural land of the world is fast changing into industrial land.

B)
According to the shocking report of the UN, the world is losing its fertile land fast.

C)
It is a fact that the world’s agricultural land will be shockingly disappearing.

D)
The UN's findings is that the whole world is totally going agricultural.

E)
The UN declared openly that. most of our agricultural lands fast turning arid.

81 -85. sorularda, parçada bırakılan boşluğu uygun şekilde tamamlayan ifadeyi bulunuz.

81-
People cannot agree on the issue of handgun ownership. Some believe that gun ownership is an important personal right while others claim that individuals should not be allowed to own handguns   …………    

A)
Guns have been a necessary part of life for most of history but today's society is quite different

B)
the serious problems of crime and family conflict have made gun ownership difficult to accept

C)
They also enjoy using guns for hunting, target practice, and other recreational purposes.

D)
Each side has good arguments for its point of view

E)
They are strong believers in the traditional rights of the individual

82-
In Athens we have a lot of smog - we call it the nefos. Pollution has done a great deal of damage to ancient buildings, and the main source of this is industry, particularly in sulphur dioxide levels. ______ . They produce almost all the carbon monoxide pollution, and that's been monitored quite often at levels of 13 parts per million at night.

A)
We have tried to reduce pollution from cars by only allowing odd-and even-numbered cars to circulate oil any given day

B)
We have halved those levels by stricter controls, but at the same time the number   of cars has grown

C)
In effect, that halves the amount of pollution they can cause

D)
The city has had considerable success in fighting pollution

E)
We estimate that a 15% reduction in traffic volume would cut carbon monoxide emissions by 40%.

83-
______ . Climate, the long-term behaviour of weather, is changeable. Not only are there gross changes over geological time scales (ice ages and interglacial warm periods) but smaller changes on much shorter time scales occur, too.

A)
The sixteenth, seventeenth and eighteenth centuries were up to 10 cooler than today's average temperatures

B)
Recent climatic changes have been less thanked

C)
The unstable climate began to be a major cause for concern

D)
The sun's output probably varies by about 0.1% during the eleven-year solar cycle, and this fact has recently been related to sunspot activity

E)
The world's climate is not and never has been constant         

84. 
Traffic goes on increasing all the time in big cities and the roads are almost permanently blocked by a slow moving procession of metal cages. Complicated systems of one-way streets and the universal use of traffic lights have not provided a real solution to the problem. ______.


A) 
Thus, the traffic has improved to a significant extent


B) 
Until then, people had longed for a drive on a 



less heavily congested road


C) 
As a result, driving in crowded towns has 



become a disturbance rather than a pleasure

D) 
Therefore, self-driving instead of hiring a taxi is 



still preferable


E)
So, drivers should be recalled from time to time in order to be reminded about the traffic codes



85. 
As children, we were always in search of


adventure, _______ . We romantically hoped to 


find an SOS from some poor shipwrecked


sailor, but our wishes never  came true and we


never had occasion to save a sailor in distress,


although we did find bottles with messages



inside them.


A) 
for there used to be lots of sea accidents then 



and sailors trapped in sinking ships


B) 
so when we became old enough, we ran away to sea and were soon working as cabin boys on a huge liner



C) suddenly we noticed a sailor in the distance clinging to a small raft and thus keeping himself afloat 


D) but once, our ship struck a rock and tore a gaping hole in her side on her way to South Africa 


E) and our favourite occupation was to search the beaches for bottles swept up by the tide

86-90. sorularda verilen durumda söylenebilecek sözü bulunuz.

86-
In a shoe shop, you find some shoes that you like very much; however, the only pair available that fit you have been in the shop window and have faded slightly in the sun. You are not deterred by this, but thinking they are not worth so much, you say:

A)
As they are not in perfect condition, I’m not prepared to pay the full price.

B)
Well, I do like them a great deal. Have you got them in another size?

C)
Could I try on the ones in the window if they are the right size, please?

D)
How can you expect people to buy goods which have been on display and are damaged?

E)
I’m really sorry that you haven’t got another pair in stock.

87. 
It is the morning of your friend's wedding. She is nervous, especially about her appearance. To relax her, you say:

A) 
You look absolutely beautiful in your dress!

B) 
Don't worry. I'm sure your fiancée will be suitably dressed for the wedding.

C) 
Are you sure you're making the right decision?

D) 
Will you throw your flowers to me after the ceremony?

E) 
How do your mum and dad feel about losing their only daughter?

88. 
Your friend sends you an invitation to her birthday party. However, on that evening your parents are ha​ving a family meal which you can't miss, so you send your friend a note saying:

A) 
Thank for the invitation. I hope it’s alright for me to bring along a few of my family as well.

B) 
It was lovely to hear from you. I do hope that you enjoy every minute of your birthday.

C) 
My family are really sorry that they won't be able to make it to your party that night.

D) 
Sorry! I can't make it that night due to family commitments, but I hope you have a wonderful birthday.

E) 
I'm sorry that you can't come for the meal, but it is just for family members.

89.
You want to phone Maria urgently, but you can't because you know neither her phone number nor her surname. You say anxiously:


A)
 It's a pity there's nobody who knows me.   


B)
 How on earth can I contact her?


C)
 Why does she keep her phone number secret?


D)
 It's time I found a telephone book.


E)
Is there anybody here that Maria knows?

90-   
You are taking your car to be cleaned. You normally only have the outside cleaned and the floor mats brushed, but, as you have been on a long trip, the interior is very dirty, so you want the seats and carpet vacuumed as well. To make certain this is done, you say:                                                         

A) 
I want the car washed, but don’t brother with the carpets and the seats this time as I am going on a trip and they will get dirty,           

B) 
Can you vacuum the carpets more thoroughly than last time as they were still dirty?

C) 
I'm going on a trip, so I want a really thorough job done this time, please.

D) 
In addition to washing the car, please clean the carpets and seats thoroughly.

E) 
Does your service include cleaning the interior or just the outside of the car?

91-95. sorularda, karşılıklı konuşmanın boş bırakılan bölümünde söylenmiş olabilecek sözü bulunuz.

91. 
Bram 
: What are all those flags for out in the 




street?


Oscar 
: Maybe there's going to be a political 




election.


Bram 
: _______.


Oscar 
: That's right, I remember now. It's 




been 53 years since the Allies 




defeated the Germans and the war 




ended.


A) 
I don't think so. They're in commemorative 



colours. 


B) Who are you going to vote for this time?


C) Chelsea beat Liverpool in the cup final.


D) I think it’s for the street party next week in 



honour of the Royal Wedding.


E) Let’s take them down, they look ridiculous.

92. 
Waiter     : Can I help you? 


Customer: ____________ .​ 

Waiter     : Here you are ... What would you like 



              to have, sir?


Customer: I'll start with onion soup please. And 



              then I'd like to have chicken, chips 



              and peas.

A) No, thank you. Will you bring me the bill 


please?

B) Oh yes, bring me the menu, please. 

C) Yes, okay. Let’s have lunch then.

D) Why not! How much does a chicken chips and 


peas cost?

E) Fine, thanks. How are you?

93. 
Pamela 
: You know cigarette is killing you, 



don't  you?


Wayne 
: Yes, of course.


Pamela 
: _______ .​

A) How many cigarettes do you smoke a day? 


B) How much is a packet of cigarette?

C) Why don't you stop it, then? 

D) It is very harmful.

E) When did you start it?

94-
Adolf
:
How do you know the man can't be a 





doctor?


Martin
:
___________ . 


Adolf:
I can't understand why people lie.


A)   When I mentioned "hepatitis” the other day, he 



thought it was kind of insect.

B)  Because he's got a US stamp on his passport.

C)
He looked so pale himself.

D)
He insists I've got gangrene in my leg.

E)
He doesn't have a painkiller on him.

95-
Chris
:
Do you remember the day we first 





met?


May
:
………… 


Chris
:
Yes, I remember. You asked me to 





dance with you.

A)
Oh yes. I'd just had an argument with a work mate of mine.

B)
As I didn't feel like dancing any more, you got very angry.

C)
Instead of buying me a drink, you bought one for your girlfriend.

D)
We were at a Christmas dance. I'd just finished high school and you had already begun to work at a factory.

E)
I had seen you before that evening, though.

96-100. sorularda, anlam bakımından parçaya uygun olmayan cümleyi bulunuz.

96-
I) 
Ensmore School, Bury, is a medium-sized school near the town centre. II) It is open throughout the year and offers courses at all levels. 


III) It organises weekend excursions and a sports 


programme during the summer months June 


September. 
IV) Students live with local families and 

have all their meals with them except weekday 

lunches which are provided by the school. V) All 

students share study bedrooms.
A)   I         B) II         C) III             D)IV             E)V 

97-
I) 
I get a lot of letters at this time of the year from 


people complaining that they have a cold which 


won't go away. II) 
And remember medicines might make you sleepy, please don't try to drive if they do. III) There are so many different stories about how to prevent or cure a cold, it's often difficult to know what to do. IV) Although colds are rarely dangerous, except for people who are already weak, such as the elderly or young babies, they are always uncomfortable and usually most unpleasant. 
V) Of course you can buy lots of medicines which will help you to make your cold less unpleasant, but you must remember that nothing can actually cure a cold or make it go away faster.

A)   I         B) II         C) III             D)IV             E)V 

98-
I) 
Among the suggestions for improving London 

were several to make it more attractive. II) One ideal was that late-night cafe's on the pavements should open, assuming that the owners would be happy to serve customers at such times. 
III) 
More original was the idea that street musicians should be encouraged to play but before being allowed to do so, should be obliged to pass a test for musical ability. IV) Traffic in London has been revolutionised three times since the early nineteenth century. V) On the other hand, portable radios would be banned and those playing them loudly in public places would be fined.

A)   I         B) II         C) III             D)IV           E) V
99. 
(I) The quality of the words you select to express your ideas is just as important in composition as the quality of your sentence structure. (II) The words you choose constitute your diction. (III)
 A large vocabulary is therefore a great asset in writing. 


(IV) If you have a poor vocabulary, you'll inevitably have difficulty grasping the meaning given in a  text. 


(V) From this rich source, you can choose the best word that conveys the exact meaning you intend

A) I
           B) II              C) III
       D) IV
    E) V

100.
(I) The deforestation in the Amazon, whereby large areas are cleared of trees, continues to lay bare more ground to heavy rain. (II) Environmentalists are trying to bring deforestation to the attention of  world governments as they consider it to be one of the greatest threats to ecology. (III) This washes the unprotected soil into mud and forges new channels down which the superfluous rain flows. (IV) As more rain falls, these "rivers", which are already full of mud, rise  quickly. (V) They break their banks and flood the locality, killing hundreds of villagers each year.

A) I              B) II             C) III               D) IV          E) V
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